












Siva, Sathish, Amar and Praveen are playing cards. Amar is 

to the right of Sathish, who is to the right of Siva. Who is to 

the right of Amar ?
सिवा, ितीश, अमरऔर प्रवीनकार्ड खेल रहे हैं। अमर ितीश के दायी ींओर

है, जो सिवा के दायी ींओर है। अमर के दायी ींतरफकौन है?
(A) Sathish (B) Siva

(C) Praveen (D) Amar



Find the odd :-

(1) 37 - 74
(2) 52 - 26
(3) 47 - 84
(4) 88 - 44



Find the odd :-

(1) 206
(2) 125
(3) 27
(4) 8



Find the odd :-

(1) 6243
(2) 2643
(3) 8465
(4) 4867



Find the odd :-

(1) 81 - 45
(2) 72 - 91
(3) 117 - 99
(4) 135 - 126



Find the odd :-

(1) 02 - 03
(2) 11 - 17
(3) 31 - 35
(4) 23 - 29



Find the cube  :-

(1) 28
(2) 29
(3) 30
(4) 32





Find the missing ONE (?)

17 : 60 :: 20 : ?

(A) 57

(B) 69

(C) 81

(D) 93
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Find the option which should replace (?)

7 : 85 :: ? : ?

(A) 3 : 31

(B) 8 : 113

(C) 5 : 43
(D) 2 : 9



Find the MISSING  (?)

12 : 35 :: 16 : ?

(A) 78

(B) 32

(C) 63

(D) 64



Find the MISSING  (?)

5 : 100 :: 7 : ?

(A) 49

(B) 196

(C) 91

(D) 98



Find the MISSING  (?)

16 * 25 * 77 

23 * 52 * 57

23 * 32 * ?

(A) 78

(B) 55

(C) 43

(D) 23



Q.. Statement :

All Goat are Hat

Some Hat are Bat

No Bat are Tap

Conclusions :

(I) All Tap are Goat

(II) No Tap are Goat

EXAMPLE

प्र.. कथन :
सभी बकरी टोपी हैं
कुछ टोपी बले्ल हैं
कोई बले्ल टैप नही ीं है

ननष्कर्ष:
(I) सभी टैप बकरी हैं
(II) कोई टैप बकरी नही ीं है



Q.. Statement :

All Goat are Hat

Some Hat are Bat

No Bat are Tap

Conclusions :

(I) All Tap are Goat

(II) No Tap are Goat

EXAMPLE



Q.1-2. Read the following information carefully and answer the questions which follow :

A, B, C, D. E and F live on different floors in the same building having six floors numbered

one to six (the ground floor is numbered 1, the floor above it. number 2 and so on and the

topmost floor is numbered 6).

A does not live on an even numbered floor. There are two floors between the floors on which

D and F live. F lives on a floor above D’s floor. D does not live on floor number 2. B does not

live on an odd numbered floor. C does not live on any of the floors below F’s floor. E does

not live on a floor immediately above or immediately below the floor on which B lives and

lives odd number of floor.

A, B, C, D, E और F एक ही इमारत में अलग-अलग तल पर रहते हैं सजिमें छह मींसजलें 1 िे 6 होती हैं (भूसमतल को
िींख्या 1 माना गया है, इिके ऊपर की मींसजल को िींख्या 2 और इिी तरह िबिे ऊपर की मींसजल माना जाता है

िींख्या 6)।
A िम िींख्या वाली मींसजल पर नही ीं रहता है। सजि तल पर D और F रहते है उनके बीच में दो मींसजले हैं । F, D के

मींसजल के ऊपर वाली मींसजल पर रहता है। D मींसजल 2 पर नही ीं रहता है । B सवषम िींख्या वाली मींसजल पर नही ीं

रहता है। C, F के तल के नीचे सकिी भी मींसजल पर नही ीं रहता है । E, B तल के तुरींत ऊपर या तुरींत नीचे की मींसजल

पर नही ींरहता हैऔर वह सवषम िींख्या वाली मींसजल पर रहता है ।



Q.1-2. Read the following information carefully and answer the questions which follow :

A, B, C, D. E and F live on different floors in the same building having six floors numbered

one to six (the ground floor is numbered 1, the floor above it. number 2 and so on and the

topmost floor is numbered 6).

A does not live on an even numbered floor. There are two floors between the floors on which

D and F live. F lives on a floor above D’s floor. D does not live on floor number 2. B does not

live on an odd numbered floor. C does not live on any of the floors below F’s floor. E does

not live on a floor immediately above or immediately below the floor on which B lives and

lives odd number of floor.



Q.1. Who amongst the following live on the floors exactly between D and 

F ?
सनम्नसलखखत में िे कौन D और F के तल के बीच में रहता है?
(1) E, B                   

(2) C, B                    

(3) E, C                   

(4) A, E

(5) None of these



Q.2. On which of the following floors does B live ?
सनम्न में िे सकि तल पर B रहता हैं?
(1) 6th

(2) 4th

(3) 2nd

(4) 5th

(5) None of these



6 Boys are sitting in a circle and facing towards the center of

the circle. R is sitting to the immediate right of M, but he is

not just to the left of V. S is between B and V. A is sitting to

the immediate left of V. Who is second to the right of v ?
छः लड़के एक वृत्त में बैठे हैं और वह िभी वृत्त के कें द्र की तरफ मुख करके

बैठे हैं । R, M के तत्काल दायी ींतरफ बैठा है, लेसकन वह V के तुरींत बाईीं ओर

नही ीं है। S, B और V के बीच में है। A,V के तत्काल बाईीं ओर बैठा है। V के
दायी ींओर दुिरे स्थान पर कौन बैठा है?

(A) S (B) R

(C) B (D) M



6 Boys are sitting in a circle and facing towards the center of

the circle. R is sitting to the immediate right of M, but he is

not just to the left of V. S is between B and V. A is sitting to

the immediate left of V. Who is second to the right of v ?

(A) S (B) R

(C) B (D) M




